EPPS6313 Recitation Session (24. 25 Mar) by Young Joon Oh

I . Short Review

1. Cross Tabulation

- Row and Column marginal : the frequency for one of the two variables, irrespective of the

other variable

f w100, —*

row column

- Row and Column percentage : S X 100 ; To compare performance

on the dependent variable across categories of the independent variable. Use IV’s %

2. Non-parametric test : X? (Chi Square)
- Oneway X? :Hy: X220, X2 = Rl pop=ie1 (ki #of cell). X2y, > Xy, :
Reject the null )
- Two-way X2 :F,= NrewNeolumn = pop = (R1)(C-1)

Ntotal

- Residual Analysis (Adjusted Residual) : X? is like Anova,

So, Adjusted Residual = FaFe
\/Fe(l_Prow)(l_Pcolumn)

- When the expected value in any category is less than 5, use corrections to Chi-Square
(Fisher’s Exact Test, or Yule’s Q).

3. Measure of Magnitude (o, C, V)
- ®(Phi coefficient) : \/% ; For2x 2

- Contingency Coefficient(C) : C = /%;2 ; For nxn(n>2)

X2
N(K-1)

- Cramer’s V(V):V = ; K = either the number of columns or the number of rows,

whichever is smaller.

- ltis not test, So when X2,. > XZ;. , Reject the null that ¢ or C or V is 0 in the
population

- Scale : 0: no relationship, < 0.25 : weak relationship, 0.25< < 0.5 : weak to moderate
relationship, = 0.5 : moderate, 0.5< <0.75 : moderate to strong, > 0.75 : strong, = 1:
Perfect. Ex) In my sample, weak to moderate relationship.

4. Proportionate Reduction in Error (PRE)
Fiv—Mgv
N-Mgv
of IV , My, = the largest marginal total of DV ; asymmetrical
knowing IV reduced our errors in prediction by 1%

- Measure of Association (L) : A = ; Fiy = the sum of the largest cell frequencies
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IT Problems

1. Test the table

OFFICER TYPE

Conflict
Minimizer Control
No 90 65
USED
FORCE?
Yes 10 35

2. Calculate measure of magnitude of above table



